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import random . 1000MEZHx], 10DfEX2, 1DEEXIIZRA
X=random. randint (0, 999) . x1,x2x3%z&~%
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import random
X=random. randint (0, 999)

x1=X//100 #100TEI>7-FF

x2=(X//10)%10 #10TEI>-EZ10TEI>1=xRr Y
x3=X%10 #10TEI-> =R Y

print (X)

print (x1, x2, x3)
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import random
D A=int(input( 0: 5 — 1:F 3% 22/\—%AHN"))
’VJ&JO)H%E‘& B=random. randint (0, 2)
hantei=[' LN, L, &lT']
te=["J—","FaFx 6 /N—"]

cQ:J— 1:F3F% 2:/\— &3

R ZEHIET DN ZEBRAD

-1 E2H AT, -2ETHEES. OB LT
c %EFHEDELLIKL

wF-as L@
0= TiFEE 28 o— rax 20— EEREEE

7= o 1 [EN JegEE s o+ SN gErI

B o aFsE 20 34 '

2= 2 [T o 2= 1 2] s

wF-as+3 L e




(HBF-B2+3)%3 EES

2. v DB

§ 1:73% 2 0 1

c0:F— 1:F3F 2:8— &glam . 1 e o
BREHETEREERS

import random

A=int(input(0: 5 — 1:F 3% 2:/x—Z%AHN"))
B=random. rand|nt(0 2)

hantei=[’ jbb\ ’}*ts BT ]

te=[" o —", 9‘-3# /\—]
print(hantei[(B—A+3)%3])
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. str.isdigit (372251 B /

EOMED D SN

Ao )

ﬂagl=True

flag=True
DE#FEYRL

AMBEAICKA |

STEFIHBIER S True,
Z5TRIFNIFFalse

T D BRI ENMFRERR T D & K Y

HEMEERD 0T 5 L

A=

input ()

print(str. isdigit(A))

flag=False
|
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flag=True
DE#ERYRL

/ ANBEAIAA |

flag=True
while flag: @m} ——
A=input ( 2HTDEZA DL TS fZSLY)
iIf str. isdigit(A):
if int (A)<10 or int(A)>99: CD
print(A,” TIHR 2HiTIEHYFEA Lt H2>—EFEAHDLTLEEELY)
else:
print(A, TIRAAHBYNESIZILVET )
flag=False
else:

print( BETIEHY FEBA T 5—EFEAHDLTLEEELY)
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max=99
min=10
atari=False
cnt=0
while atari==False:
Qnum=int ((max+min) /2)
print( LE=-NEZ T, Qnum, TI ')
Ans=int (input C 0: 1%Ly 1:: KRELY 2:/phELy TRHREZELTLCESWL ))
cnt=cnt+1
1T Ans==0:
atari=True
el1f Ans==1:
min=0Gnum
else:
max=QGnum

print(Qnum,” TLFf= ',ont, ETHEYELE)
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